1.Is sizeof a keyword ?

2.Which class is the superclass for every class ?

3.what are the features of  java . Name them?

4.Name the interpreter and compiler of java?

 5.What is Encapsulation?

6. what are the three oops principles used in java?

 7.Explain public static void main ?

8. How many bytes does each occupies

· Byte

· Int

· Short

· Long

· Float

· double

9. Is this correct: k=i<0? 1:1; what is the name of the operator used?

10.what does break and continue statements do?

 11. write the statement to assign the int  value to byte?

 12. State the scope of each:

· Local Variable

· Instance Variable

· Class Variable or Static variable

13. Name the short circuit operators.
14. What is the difference between the Boolean & operator and the && operator? 

15. Why Java does not support pointers? 

16. What is a platform? 

17. What is the main difference between Java platform and other platforms? 

18. What is the Java Virtual Machine? 

19. What is native code? 

20. How many bits are used to represent Unicode, ASCII characters? 

21. What is the difference between static and non-static variables? 

22. Name primitive Java types. 

23. What is polymorphism? 

1.      public class test{

2.      public static void main(String args[]){

3.      int   i=0XFFFFFFF1;

4.      int   j = ~ i;

5.

6.    }

7.      }

What is the decimal value of  j at line 5?

A. 0

B. 1

C. 14

D. -15

E. an error at line 3 causes compilation to fail.

F.  an error at line 4 causes compilation to fail.

Question no :2

public class test{

private static int j=0;

private static Boolean methodB (int k){

j+=k;

return true;

}

public static void methodA (int i)

{

boolean b;

b= i <10 | methodB (4);

b= i<10 || methodB (8);

}

public static void main (String args[]) {

methodA (0);

System.out.println (j);

}

}

What is the result?

A. the program prints “0”

B. the program prints “4”

C. the program prints “8”

D. the program prints “12”

E. the code does not complete.

Question 3

Given

1.      public class test{

2.      public static void main(String args[]){

3 .   System.out.println(6 ^ 3);

4.    }

5.   }

What is the output?

Question 4

Which two statements are reserved words in java?(choose two)

A. Run

B. Import

C. Default

D. Implement

Question no 5

Which three are valid declarations of a float?

A. Float foo = -1;

B. Float foo = 1.0;

C. Float foo = 42e1;

D. Float foo = 2.02f;

E. Float foo = 3.03d;

F. Float foo = 0x0123;

Question 6

Given

1. byte [] arry1,array2 [];

2. byte array3 [][];

3. byte [][] array4;

if each array has been initialized ,which statement will cause a compiler error?

A. Array2 = array1;

B. Array2 = array3;

C. Array2 = array4;

D. Both A and B

E. Both A and C

F. Both B and C

Question no 7

Given

Int i=1, j=10;

do{

if(i++ > --j) continue;

} while (i<5);

After execution, what are the values for I and j?

A. i=6 and j=5;

B. i=5 and j=5;

C. i=6 and j=4;

D. i=5 and j=6

E. i=6 and j=6

